1. @& Y | (Complete the table) :
R ERENIIGE

g9 Y YodRIq

2. YehIS TOT YIeed WAt t@aq | (Frame the questions using the words in the brackets) :

(1) 3T8H 3Tare el o1 | (hfd)

(2) HEhAY&h Hod TeEFehiul 317& | (fhaq)
(3) 78 s SR sEfa | (F)
(4) 3o qw fowdfa | (fem)

(5) o Af<xd: 3uH T=eid | (FA: FA)

(6) aeThI: shiee shiergv Toof | (formem)
3. SIEUUNMTER Weaed =Ed | (Frame the question. Follow the example) :

3RO : AW 3UH A |
I A S ?
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(1) v fafeced sifE |

(2) g&rh: g AR |

(3) == wEEd IR |

(4) Ty o AfE |

(5) Had: @ A |

3. 3wEifafad Hare usq TaH R 98 uedd &g |

(Read the following dialogue and enact it with actions)

forereR:  : fowemeusit a=q |

B :oerg |
oreten: HY: |

B RUES S
oreten: gfieh: |
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BE: S £ CE P
Rrarer: ¢ (TEEIYEA) WY
S ¢ Y |

forgren:  : (F) Y @ |
B o (araEn) 4, g |
oregeR: ¢ o | TR |
BA: R e e ) 1
forerem: @ (FA) Sfasg |
BE: : Sufaerg HH |
foreren: @ frfesg @
BA: : ITesq qq: |
4. RIS I |(Complete the table) :

In number In words
1 Ry X 3 =
2 39 + ¥§ =
3. R& + ¢ =
4. V3 — R4y =
5. ¢ X & =
6. 30 + ¥ =
7. Ve + 23 =
8. 8% — U3 =
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5. Read the following paragraph and frame questions on the basis of it:

ST WA | Rl AEeeEe foeerd T=sfd | 9o |1 WiefAi hfd | STH=<R) 91 qeAeeri gia=m
FHorEfd | qead |1 oFiEve ufoera | a9 fafawr fomwem vefa | fasf<eret w qeaener T=sfd |
T 91 iR gefd | =qaier W1 harave fafaety feasfon geafa | wre=gaie o shierg o swiefd |

ToaaTe faemerd: TH AMT=sid |

IR0 : kAl HA TeSfq ?
(1)

(2)

(3)

(4)

(5)

(6)

(7)
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